EXECUTE .

CATPCA

  VARIABLES=sessions reserved urgency residual cda_cont cda_outc referen0 budget_s budget_o

  /ANALYSIS=sessions(WEIGHT=1,LEVEL=ORDI) reserved(WEIGHT=1,LEVEL=ORDI)  urgency(WEIGHT=1

 ,LEVEL=ORDI) residual(WEIGHT=1,LEVEL=ORDI) cda_cont(WEIGHT=1,LEVEL=ORDI) cda_outc(WEIGHT=1,LEVEL=ORDI) referen0(WEIGHT=1

 ,LEVEL=ORDI) budget_s(WEIGHT=1,LEVEL=ORDI) budget_o(WEIGHT=1,LEVEL=ORDI)

  /MISSING=sessions(PASSIVE,MODEIMPU) reserved(PASSIVE,MODEIMPU) urgency(PASSIVE,MODEIMPU)

  residual(PASSIVE,MODEIMPU) cda_cont(PASSIVE,MODEIMPU) cda_outc(PASSIVE,MODEIMPU) referen0(PASSIVE,MODEIMPU) budget_s(PASSIVE

 ,MODEIMPU) budget_o(PASSIVE,MODEIMPU)

  /DIMENSION=2

  /NORMALIZATION=VPRINCIPAL

  /MAXITER=100

  /CRITITER=.00001

  /PRINT=LOADING QUANT( sessions reserved urgency residual cda_cont cda_outc referen0 budget_s budget_o ) VAF

  /PLOT=OBJECT (20) JOINTCAT( sessions reserved urgency residual cda_cont cda_outc referen0 budget_s budget_o ) (20)

  LOADING (20) TRANS( sessions reserved urgency residual cda_cont cda_outc referen0 budget_s budget_o ) (20)

  /SAVE=OBJECT (OBSCO(1)) .

DESCRIPTIVES

  VARIABLES=OBSCO1_1

  /STATISTICS=RANGE MIN .

COMPUTE AGENDA=((OBSCO1_1-(-0.7914883703138))/3.547338141728) +1 .    

DESCRIPTIVES

  VARIABLES=AGENDA

  /STATISTICS=RANGE MIN MAX .

COMPUTE AGENDA2= (((OBSCO1_1-(-0.7914883703138))/3.547338141728) * 99) +1 .

DESCRIPTIVES

  VARIABLES=AGENDA2

  /STATISTICS=RANGE MIN MAX .

